Equal 9 step grey scaling betweeb*gan=31 & L*gaw=81.8,Ypret=60, normalisation whiteW

L*0ane31.0,L%0a=56.4,L*0aw=81.8, Yoan=6.7, Yoam24 3, Yoaw=60.0, Coay=Yoaw: Yoan=9.0
L*tan=64.4,L*1au=71.0,L*taw=81.8, Ytan=33.3, tau=42.2, Ytaw=60.0, Gay=Ytaw: Ytan=1.8
Regularity index according to ISO/IEC 15775:2022, annex G for 5 and 9 steps

g* = 100 BL* min] / [AL* max], L* cleLaBw = 116 [Y/Yp]/3 - 16 with Y >= 0,882,Y,=100

g%= 99, g%y= 99 g%= 45, g%= 39 g%= 71, g*5= 58
L* cieLaB,w intended output real output linearized output
n0.i L*0a L*Or YOa YOr : L*a Al*a L*r Yta (L*r) Y162 *a Al*a
100+ 3
(D9 818 10 600 10 | 818 sy 1O 600 10 818
75+ 8 755 0875 491 0795 788 0824 545  0.887 799 O
7 691 075 395 0616 759 066 498 0774 79 oo
6 628 0625 313 0462 733, 0511 457 0661 759 o
5 564 05 243 033 710 0377 422 0547 740 O
50+ @4 501 0375 185 0222 689 0258 392 0434 720 o/
3 437 025 137 0131 671 0156 368 0318 700 O
2 374 0125 97 0058 656, 007 349 0194 678
1 310 00 67 00 644 00 333 00 64.4
25+ :
o= 1 YoartY,
AL*=6.3 (=1,2...8) i normalisation: YtaiW:YOaW%
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